Adding decimals *

Write the answer between the lines.

1

$3.35 345 m
+ $5.55 + 1.25m
$8.90 470 m

Write the answer between the lines.

$3.60 $1.25 $7.45
+ $2.25 + $4.55 + $2.35
$3.60 $7.35 $5.25
+ $3.25 + $1.45 + $2.65
345 m 8.55 m 1.75 m
+ 4.35m + 1.35m + 5.20m
240 m 7.15m 3.85m
+ 145m + 1.35m + 4.10 m
Worite the answer in the box.
$2.75 + $4.15 = 375m + 2.75m = $3.65 + $1.50 =
$6.25 + $1.50 = 8.65m + 2.55m = $3.45 + $1.55 =

Work out the answer to each sum.

)

Jennifer buys two rolls of tape. One is
7.75 m long, and the other is 6.75 m.

George buys two magazines that
cost $2.55 and $1.75. How much
does he spend?

How much tape does she have

altogether?

BEIO

© Dorling Kindersley Limited [2010]

5ISCHOOLS



Adding decimals *

Write the answer between the lines.
1 1

$3.35 345m
+ $5.55 + 1.25m
$8.90 470 m

Write the answer between the lines.

$3.60 $1.25 $7.45

+ $2.25 + $4.55 + $2.35
$5.85 $5.860 $9.860
$3.60 $7.35 $5.25
+ $3.25 + $1.45 + $2.65
$6.65 $8.60 $7.90
345 m 8.55 m 1.75 m
+435m + 1.35m + 5.20m
7.60 m 9.90 m ©.95 m
240 m 7.15m 3.85m
+ 145m + 1.35m +4.10m
3.65 m 850 m 7.95 m

Worite the answer in the box.

$2.75 + $4.15 = $6.90 3.75m +2.75m = 650 m $3.65 + $1.50 = $5.15

$6.25 + $1.50 = $7.75 8.65m + 2.55m = 1120 m $3.45 + $1.55 = $5.00

Work out the answer to each sum.

George buys two magazines that

cost $2.55 and $1.75. How much

does he spend? $4.20
Jennifer buys two rolls of tape. One is J S
7.75 m long, and the other is 6.75 m. Va/\ N /I
How much tape does she have 45 m

altogether?

You may wish to discuss with children that when the final decimal place of a
sum is zero, it can be written, but it can also be omitted—unless the sum is an
amount of dollars.

© Dorling Kindersley Limited [2010]

5ISCHOOLS



